RBC Evaluation 

Analysis:  variables, objective function, constraints, solution

Additional tomatoes: problem formulation and Interpretation

Other sensitivity analysis:  should you advertise to increase demand etc.

Paper
Clear and professional writing
Correct spelling and grammar 
Do you say enough about the problem to put it in context?
Does the recommendation stand out or do I have to dig to find what you propose?
Can I understand how you derived your model? For example, the quality constraints are not obvious.
Is it clear why the Cooper and Myers solutions aren't optimal?
Thoughts:
1. Keep in mind you are talking to busy people
2. Put your recommendation first
3. More tables/lists/less prose
4. Include tables from original statement
5. Single space
6. More direct writing: I recommend xyz because...
7. Transitions OK in normal prose but can be axed here.  “On a further note”
8. Most of you had trouble just ending it without a concluding paragraph. 
9. Passive:  “From Exhibit A it was determined that” ->” Exhibit A shows that”
10. Explain the analysis and results so that someone can check out the model but not intermediate steps in how you arrived at them. E.g. list the variables and what they mean, not that you considered X1, X2, X3 but realized you needed more

Oral Discussion
Can I understand the problem and recommendation?
Good use of visuals?

Rebutting alternate solutions
Cooper: First statement is in error since producing all whole tomatoes does not take into account quality points.  Cooper’s calculated profits are in error since cost of tomatoes should not affect the decision, because they are already purchased.
Myers: is also incorrectly considering the cost of the tomatoes.
Tucker: correct reasoning.

	
	Grade A in WT
	Grade B in WT
	Grade A in Juice
	Grade B in Juice
	Grade A in Paste
	Grade B in Paste
	Profit

	Cooper
	600,000
	2,400,000
	
	
	
	
	Infeasible

	Myers
	
	
	600,000
	400,000
	
	2,000,000
	616,000

	You
	525000
	175000
	75000
	225000
	
	2,000,000
	675,000



